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Chapter 6 Practice Test SCORE

Write the letter for the correct answer in the blank at the right of each question.

For Questions 1 and 2, use f{x) =x + 5 and g(x) = 2x".

1. Find (- g)(x). :2){; (V,L {J
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L2 +
2. If f{x)=x? and g(x) = 3x — 1 find [ /> g](x).
. Yy L 2
’{/9 (x)) , ?y Y.
— (3x_/) "
3. State the domain and range of the function graphed. ok X732

3. A yZ a

 fx

=

4. Find the inverse of g(x) = -3x + 4. o ; 4, ) = _;
= 37.4\" -+ 4/ - ":{ C) /{2 7 —-‘X .
= “Zyp ¢ =3 >

. >
5. Determine which pair of functions are not inverse functions. & #% [6 ) ;/‘; /f(,\) } 2 A
Ag(x)=2x+9 Bg(x)=x-1 Cg(x)=3x-6 Dg(x)=3x+4 ) 5.

hx)=3x-9 h(x)=x+1 h(x)=§x+2 hxy =2
L(2x09)—G = X+ %2 =F 4 X 3 )
L ' i O x778,
6. What is the domain of y <+/3x + 87 " y R /3
Fx 487 O 5  Fx 7Y
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7. Simplify /49x6y?, k3 B 7 7 7

8. Use a calculator to approximate Y168 to three decimal places.
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9. Simplify ¥24ab5 - o c DaothVis? 0. A V3,72
o (9%eGl) 74, 4044
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10. Simplify 5v72 + /75 —+/288. 10. /X?Q ‘1'5'7/3\
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